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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assgmese

1. Answer the following questions as directed :

Rt IR @ T B T 1x10-10

(@) Whatis ‘hormal proﬁt’is

sreiRe ae’ &7

(b) Is there consumer surplus und
degree price discrimination? er first

gq oy W ReeneTe ¥
IR ? TR vye

A .
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(c)

(d)

(e)

(9)
(b

i
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(2)

Economic rent = Actual earning—- ____

( Fill in the blank )
SRAE e = T W |

( AR ST om0 )
What is internal rate of return?

SRR A 21 2

At ‘shutdown point’, average revenue =
average variable cost.

( Write True or False )
‘%aﬂquﬁﬁ’@, T SR = T RS
T (37  =ReT, oy )

Marginal revenue product =
Physical prodyct x - .

( Fill in the blank )
MEF RS-y Seor = e T TR
X

—! (AN 37 R 741 )

Write the second-order condition of
Pareto Optimality.

IR Prre R o 56T forr |
YVhat is ‘collective bargaining’?

RRR’ ¥ 9

Marginal

tzmﬁt is the compensation payable
eNtrepreneur for his risk-bearing
. ‘q]ftlon,” Who made this statement?
%" R o el T 1 TR
T W 12 % SR A TR
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2. Answer the following questions :

(3)

What is a ‘group’ under monopolistic
competition?

GIRFR AfScmam e 7@ &2

WWWW:

(@)

(b)

(c)

(@)

8A/716

“A competitive firm is a price-taker and
a monopoly firm is a price-maker.”
Comment.

“gyq AR AP wH eSOl WE 9
GO A = T R Tl 1 T8I
fam

Write two justifications in favour of price
discrimination.

7 Resnieaem Foicw 71 309 IS forn |

Why do we need to study a separate
theory of distribution?

I RAoe™ 951 [P ©F TR LA
&2

Define unpredictable risks with suitable
example.

T AT FRY R R ToE
T Tt i foran o

( Turn Over )
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(4)

(e) Average annual profit of a project is
¥50,000 and the net investment in the
projectis ¥2,50,000. What is the average
rate of return of the project?

1 2FF T JF S 50,000 51 o ik

Ra 2,50,000 5911 2RER 15 o
T ey 791

3. Answer any four of the following questions :

5x4=20

(@) Explain how would you derive a short-
Tun supply curve of a firm under perfect
Competition.

I o s b ot TR
N @R Serm FR/3, 70 901

Explain why the monopolist does not,
V€ a supply curve for his or her
Product,

T RO e TR @ Qo
N R e, <

() “Monopoly
cost

dem
(X1

(b)

Price is a function of margjnal
Ol production and elasticity of

and.” lllustrate the statement.

W‘-‘leﬁm ™ ¥F At TeAm {7 e

o g IR 1’ BRED
M '
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@d

(e)

(5)

“Profit can be earned by introducing
innovation in manufacturing and methods
of supplying the goods.” Discuss the
statement. ' :
oo SIF TG TR RS
ol S SE FRA TR 17 SRR
A1 90 1

Whether welfare economics is a positive
or a normative science? Give reasons in
support of your answer.

g SfRam gy wfREm ¢ -
SeRE 2 oE TeRT TmeTe 3 fE |

Write in brief the basic concept of
‘compensation principle’ of welfare.

TR BT SO T ARG S
[ A

4. Answer the following questions :

T 2T s o

(@)

8A/716

Determine the long-run supply curve of
an industry in a perfectly competitive

market. 10
off S TS GO ST AR @A
@ AeRe 391
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(b)
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(6)

Or / 941

Explain how wage rate is determined
when there is monopoly in the labour
market and perfect competition in the
product market.

AR *9 IW[ GFO0A HWF AN I/F
o eifecafromET =, TgR T @ fdy
9127, I 341 |

Explain how a monopolist attains
equilibrium of price and output in the
long run.

TEFleTs GIE0A TP G @FEE TN
HF TeAMEE SR O_E G© B, U
<491

Or / 9941

Explain the drawbacks of the Ricardian
theory of rent. In what respect the
modern theory of interest is an improve-
ment over the Ricardian theory of rent?

10

10

9+5=10

R reen v sciarmz e w4 | f

e cvgs g e wadh feeR g
OGOl T, fore |
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(7))

(c) Di;scuss the following concepts : 5+5=10
©oTs T 4201 Sl 41 :
. (i Pareto optimality in exchange
RIS REGR IS

ot

(i) Pareto optimality in production
BeoiTie IITS (IR FOG

Or / ¥R

Discuss briefly the net present value
criterion and internal rate of return
criterion of a project evaluation. Which
one do you consider better and why? 10

@5l oS PR AE BT W T W

. oA o TX S TR BN 1 |

o foeTs (PRI fR sty e 9 2

(d) Write the condi'tions of prerequisites of
price discrimination by a monopolist.
How does a discriminating monopolist
allocate his outputs in different markets
to charge different prices? 5+5=10

RO FRARN W R’ I

Hromz B R, fra gw gsolbn =

T Rrowr s Rite Teee Rivw @R ™

. R IR (96T TeAftS IR T
RS fca 2
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(8)

Or / 9841

The information of three projects A, B
and C each of which has cost of ¥ 60,000.
According to pay-back period method,
determine the rank of the projects. Net
profit before depreciation and after tax

(in ¥) is given below : 10
ject|l] A | B c
Year
I 6,000 10,000} 13,000
o 9,000 | 12,000 | 15,000
m 11,000 | 9,000| 16,000
w 15,000 [ 7,000|12,000| - .
|4 10,000 | 8,000 —
VI —_ 7,000 —
TORB1 o5 A, B 9F C 2ToR0 4R 37/

FE 60,000 5311 AT I @S TR
SFHCIRHN T A 91 | /I &9 o oF
I o fiRe HRERIR [ B (BPR

Bo1ore) wore i ga ;-
' oE A B c
BT .
I 6,000 | 10,000 | 13,000
I 9,000 | 12,000 | 15,000
Jiig 11,000 9,000 16,000
v 15,000 | 7,000 | 12,000
v 10,000| 8,000| —
VI’ — | 7.000] —
* % *
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